115 G8 CH 14 WS 9 Factorization

Factorization: Worksheet -9

1. 144 a?b?- 4 = [ ]

a] 4(6ab +1) (6ab — 1) b] 2(6ab +1) (6ab — 1)
c] 3(6ab +1) (6ab — 1) d] 5 (6ab +1) (6ab — 1)
2. x*-16 = [ ]

al (x +2)(x-2)(x* +4) b] (x - 2) (x-2) (x* + 4)
cl (x +2) (x+2)(x* +4) d] None

3. Degree of (z° - 14) (z® - 1) is [ ]
al 6 b] 3 c| 4 d] None

4. x* +3x* +2 =+ x*+ 2 then remainder = [ ]
a] x> +2 b] x* +1 c] x? djo

5.If 6x* + x + 1 is divided by 2x + 1 then its remainder is:

a] 2 b] 3 cl 4 d] ‘71 [ ]

6. 71’ + zrl = [ ]
alzr(r+1) bz (> +rl) c]zr(1+1 d] None

7. (xty)t-(x-y) (x +y)= [ ]

al2y (x +y) b]2x (x +y) c]2y(x -y) d]2x (x -y)

8. Expand (g - ljz [ ]

2 2 2 2 2 2

a] Y b] — c] XE+y7—%d]Noneofthese

9. Factorize the polynomial, -r* + p* + q° - 2pq. [ ]
a](p-q-1)(p-q+71) bj(p+q+1)(p-q-71)
clip-9 (-1 dl (p-1)(q-71)
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10. The polynomial, x * + y* - z? - 2xy on factorization gives [ ]
al (x -y-2z) (x -y +2 bl (x +y+2) (x -y+2
cl](x +y+2)(x-y-2) d (x -y+2) (x +y-2
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